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=Ju
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T H 4 B FH/INFREFmbSE L O TH
e T Y% P WA HERSE+THS—2
T H FREB0FE12A10H 230 AF2410A31HET
5 W 3 i&f@%fﬁ/ﬁ@%ﬁﬁﬂﬁﬁ (T%ﬁ%ﬁ@ﬁtﬁ%- BRI IE DOBEAL T I LML TR TES
IR ANBER A AT ARANMAE S B A )
®w A & (M) T % i & (M) THE B A% ()
S LB G 962,943,120 891,614,000 (A) 71,329,120
EERGHEF(1EIR) - 910,726,000 (B) -
ERIES SEx T 905,904,000 838,800,000 (C) 67,104,000
R eFE(1EH) 925,680,900 (F) 856,779,000 (D) 68,901,900 (E)
HE AR (1121 H) 19,776,900 17,979,000 (G) 1,797,900
2GR (20 H ) - 938,423,000 (B)~ -
K eEE (2 H) 954,343,600 (F)”~ 882,836,000 (D)~ 71,507,600 (E)”
HE AR (2151 H) 28,662,700 26,057,000 G~ 2,605,700
(FEHR) B X O +@=D) B) X(C)+A)=D) <%(D) D) IZTFMikDH---EHLLFEHT>
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2% FBRINEEREFHIELIERVIEETE RKHNER (&) No. 1
RETEEAT RETERR
— T = - o o = - PR
B H B B | we wmm s o8 | mE  HE S g | EOHEEE RE
[ERAR %
I| #ETEH =Y 531,656,309 = 555,120,249 23,463,940 HE%E
| EXTHE =X 71,601,714 Y 71,601,714 0
ID| BEAGERE T5 = 110,329,002 = 110,329,002 0
[ERZENE X g 713,587,025 737,050,965| 23,463,940 BI%HE
/\@%
[| Bk = 36,046,049 = 36,677,473 631,424 HE%E
| BGEHE F2V 69,329,265 2V 70,446,806 1,117,541 ¥4%8E
— s PR = 91,764,265 = 94,249,073 2,484,808 Ha%E
IEEE 197,139,579 201,373,352 4,233,773 HE%E
et EE (T Smk) (U2 10 B 4) 910,726,000 938,423,000 27,697,000 |HI%E
40 200 115 65 45 85 85 65 45 85 85 100 45




2 % TEINEREFGILEIUERUVHEETISE RKMER1ER SETHE No. 2
RETEEA] RETERR -
= L P = 34 11 3 & 1ﬁ;i =
# B W= I T S I T o | EVVEAE WE
[ER %
I 2T 2V 325,069,786 Fay 325,069,786 0
M| EXGEm LH = 35,636,059 = 35,636,059 0
I0| AR T2 Y 20,980,835 = 20,980,835 0
ERCERER ¢ 381,686,680 381,686,680 0
Him
I| st = 21,002,820 FaV 21,002,820 0
| HRGEEHE = 39,565,308 = 39,565,308 0
— R Y 49,083,607 = 49,083,607 0
FamE 109,651,735 109,651,735 0
&FF 491,338,415 491,338,415 0
XA RE (L Hm k) TG0 491,338,000 491,338,000 0




2% BEIMNEREFHIELRERUVEBEIS KINER2#H No. 3
ERETE A HREERR -
= 24 1L KY P = 1 P ié‘“ =
& H W= g M B S8 g M B s | TOVRAE WS
[ERE Xy
| @%1T=H = 206,586,523 =X 230,050,463 23,463,940 %A
| EEREH LS = 35,965,655 =Y 35,965,655 0
I MR fi 15 = 89,348,167 Y 89,348,167 0
[EREAR: i 331,900,345 355,364,285 23,463,940 B4%E
SiSE
| ERE = 15,043,229 =X 15,674,653 631,424 %A
| BiGE e = 29,763,957 =X 30,881,498 1,117,541 %A
—WE R = 42,680,658 =X 45,165,466 2,484,808 HE%A
e G 87,487,844 91,721,617 4,233,773 BA%E
&t 419,388,189 447,085,902 27,697,713 Hi%E
FEHAEE (T HME) TH AR T 419,388,000 447,085,000 27,697,000 H4%E




2% BTEREIMNEREFGILEHERUVEBEIER [(FRHER] No. 4
RETEEAT RETERR et
# H L Y AT 28 | BB  EE M o | EUEEE WE
A |1HI=E
A—1|SfET I (11)) 2V 186,903,318 = 186,903,318 0
A—2HEE T 9 (18) = 138,166,468 = 138,166,468 0
aF 325,069,786 325,069,786 0




2% BTEREIMNEREFGILEHERUVEBEIER [(FRHER] No. 5
RETEEAT RETERR o
1EiEEE
# H "= g B B s g B B o | EUEEE WE
A1 |BIETE (188)
A-1-D b=tk E T3 1 K 127,701,943 1 =X 127,701,943 0
A1) |IR B RE R B s T8 1 =& 6,761,337 1 = 6,761,337 0
A-1-3) | FRAH s TR 1 ==K 553,083 1 =X 553,083 0
A-1-4) [FMB e T F 1 = 19,682,138 1 = 19,682,138 0
B—4|m#=EMSETE 1 =X 32,204,817 1 XK 32,204,817 0
&t 186,903,318 186,903,318 0




2% BTEREIMNEREFGILEHERUVEBEIER [(FRHER] No. 6
RETEEAT RETERR st
# H "= g B B s g B B e | FUHEEE RE

A-2 |BEETE (18))
A-2-1) | PR ARG S T 1 K 134,122,154 1 =X 134,122,154 0
A-2-2) [TV JER B SIS T 5 1 = 893,678 1 = 893,678 0
A-2-3) [JEV IR F 4SS T8 1 =X 1,575,023 1] =X 1,575,023 0
A2 | IR B RE R/ S R RS T 1 =& 1,575,613 1 = 1,575,613 0

&t 138,166,468 138,166,468 0




2% FBREIMNMREFGERERVIEETSR [ AER] No. 7

RETEEAT RETERR a3
# H L Y AT 28 | BB  EE M e | FUHEEE RE
B [2#iT =
B—1|tkf& L5 (28)) 1 =® 145,385,021 1 =X 168,848,961 23,463,940 HE%H
B— 2|5 T 55 (21)) 1 = 22,444,960 1 = 22,444,960 0
B—3|fAB G L& T 1 K 38,756,542 1] =X 38,756,542 0

At 206,586,523 230,050,463 23,463,940 HE%H




2% FBREIMNMREFGERERVIEETSR [ AER] No. 8

= W = AT EA MEEER £o|mpE =

b
feln

belo

B L B ffi ook g4 B Efff =48
HETE (280

w
|
-

B-1-1) | = M E T8 1 =X 140,695,601 1 XK 164,159,541 23,463,940 |HE%H
B-1-2) | i BRAgUEE Lo T 1 K 260,201 1 K 260,201 0
B-1-3) | /M e T3 1 = 4,429,219 1 =X 4,429,219 0

At 145,385,021 168,848,961 23,463,940 HE%H




2% FBREIMNMREFGERERVIEETSR [ AER] No. 9

REtEER RETEFR a3
# H L Y AT 28 | BB  EE M o | EUEEE WE
B—2|METE (28)
B-2-1)| FEMIEETH 1 =X 22,444,960 1 XK 22,444,960 0

it 22,444,960 22,444,960 0




%2 % TRIMNEREFHIELHERVEETIS (CETES ) No. 10
BTN = el e 4
' H m = g [WE| sa | &8 g wn o wm  ew | TeRE W3
A--D| LB ERSUE LS
1 |EERER T 1 KX 6,581,474 1 X 6,581,474 0
2 (BhiKkdE T 1 K 15,675,981 1 K 15,675,981 0
3 [HhEELLE T 1 =X 12,311,450 1 K 12,311,450 0
4 (BESUETF 1 K 45,253,021 1 K 45,253,021 0
5 |(PNEEcfE T 1 =X 18,845,722 1 K 18,845,722 0
6 [r=yMLOEDOM TH 1 X 24,958,462 1 =X 24,958,462 0
T (ke T 1 K 749,390 1 X 749,390 0
8 [MIRE T 1 X 2,338,709 1 K 2,338,709 0
9 |fiETE 1 =X 950,598 1 K 950,598 0
10 |F&AEM Sy 1 K 37,136 1 K 37,136 0
/INEE 127,701,943 127,701,943 0




& W FEENEREFGIERIERVIEETSE [ 1 o R A ) No. 42
DT Ra RAERE on
# H "= g B B s g B B o | EUEEE WE
AR BEEEERETIS
1 [EEAGEE TEF 1 =K 252,742 1 =K 252,742 0
2 |(BEKEILE 1 = 6,456,632 1 =X 6,456,632 0
3 |WiETLE 1 =K 108,672 1 =X 108,672 0
4 |G 1 =X -56,709 1 = -56,709 0
/NEF 6,761,337 6,761,337 0




2 M FTERNMNEREFEGERERVEETISE [ 1 BEEmE] No. 50
RETEHAI RETEERE g
# H "= g B B s g B B o | EUEEE WE
A BEEBERETISE
1 [EEAGEE TEF 1 =K 49,000 1 = 49,000 0
2 |[PikfEILE 1 = 177,512 1 =X 177,512 0
3 |hEELE TS 1 =K 136,400 1 =X 136,400 0
4 |EAUELHE 1 = 30,800 1 =X 30,800 0
5 |HRIRCE .5 1 =K 42,581 1 = 42,581 0
6 [ELE 1 =X 127,411 1 = 127,411 0
T |BEER Y 1 =K -10,621 1 =X -10,621 0
INEE 553,083 553,083 0




2% FBRINEREFHIELIERVIEETE [ 18351 48] No. 58
RETLEA RTZR& s
# H "= g B B s g B B o | EUEEE WE
A-1-a)| M MEZE T E( L H)
VI i 1 =X 2,500,864 1 = 2,500,864 0
2 |AREEK I 1 =X 5,653,881 IV 5,653,881 0
3 |PHRE 5 1 X 506,020 1 =K 506,020 0
4 (oM T/EmTHE 1 =X 5,238,072 1 = 5,238,072 0
5 |FEFk LE 1 =K 3,957,000 =Y 3,957,000 0
6 |ftELE 1 =X 1,308,665 1 = 1,308,665 0
T |BEER Y 1 =K 517,636 1 =X 517,636 0
/NEF 19,682,138 19,682,138 0




2% BTEREIMNEREFGLEHERUVEEIER GEEL) No. 67
EHE L] RAERE .
B H B F | we wmm s 218 g HE S gy | =OVEEE RE
B-4 |EHERRELSE
1 [EEAGE TEF 1 =K 3,286,163 1 =K 3,286,163 0
2 |BEMG BikdETHE 1 = 5,030,878 1 = 5,030,878 0
3 |HEHO JEELE T E 1 =K 9,138,740 1 = 9,138,740 0
4 |HE=EMG RGeS IV 11,181,680 1 =X 11,181,680 0
5 |HEHO BEKETLE 1 =K 2,027,915 1 = 2,027,915 0
6 |fiE-0sy 1 = 1,539,441 1 = 1,539,441 0
&E 32,204,817 32,204,817 0




%2 BTREIMNEBRRFEGILHERUVIEEIE [ 1 #ehpEk) No. 80
EEN I - =L R £
B H B B | ws wm  we | 5w g wn o wm  aw | EERE #3

A-2-)|HERRIBET $
1 [EE R T 1 KX 3,966,480 1 K 3,966,480 0
2 |[+TE 1 K 1,297,635 1 3 1,297,635 0
3 |HETEHE 1 KX 4,405,720 1 K 4,405,720 0
4 |- 1 K 6,472,600 1 3 6,472,600 0
5 MM 1 K 3,508,290 1 K 3,508,290 0
6 |&m L 1 K 3,810,170 1 3 3,810,170 0
7T |gkELE 1 K 17,068,051 1 K 17,068,051 0
8 [BEHa Y- T H 1 K 19,664,248 1 3L 19,664,248 0
9 |BAikILE 1 K 4,987,811 1 K 4,987,811 0
10 |ZANVT5H 1 K 87,437 1 3 87,437 0
11 [ KT 1 KX 499,082 1 K 499,082 0
12 [BREOENWTHE 1 K 3,652,215 1 3 3,652,215 0
13 &R THE 1 KX 13,031,891 1 K 13,031,891 0
14 |EETEHE 1 K 1,676,175 1 K 1,676,175 0
15 (@R AT 1 K 20,364,000 1 K 20,364,000 0
16 [fH¥ L5 1 K 6,787,356 1 K 6,787,356 0
17 |@dETEHE 1 K 495,788 1 K 495,788 0
18 [NEETH 1 K 7,461,507 1 K 7,461,507 0
19 |Z2=y R OZOfl T3 1 KX 14,242,198 1 K 14,242,198 0
20 |FEAEFLLSY 1 K 643,500 1 K 643,500 0

N 134,122,154 134,122,154 0




2 FRIAEREFMLRERVEEIS (MR YET3] No. 121
B H W= ¥ THE] i | & g mn o wp | e | EOERE w3
A-2-2)EYER FIEETE
1[BBG T 1 X 44,317 1 =X 44,317 0
2 |t 1 KX 106,165 1 X 106,165 0
3 [T HE 1 X 1,600 1 =X 1,600 0
VI V7R N e A 1 3K 33,606 1 =X 33,606 0
5 |AMET 1 X 47,190 1 =X 47,190 0
6 |Ekh T 1 3K 21,240 1 =X 21,240 0
7 |gETLE 1 X 395,727 1 =X 395,727 0
8 Bk = 1 KX 1,554 1 K 1,554 0
9 |BARKUEWIHE 1 X 148,611 1 K 148,611 0
10 |BETHE 1 3K 90,896 1 =X 90,896 0
11 | FAEM I 1 K 2,772 1 = 2,772 0
N 893,678 893,678 0




2 % FTRBINEREFMLRERVIEETIE (1 MEYET4] No. 134
B H " = ¥ THE] i | & g mn o wp | e | EOERE w3
A2-3EYBTMEETSE
1[BBG T 1 X 62,511 1 =X 62,511 0
2 | tIEE 1 3K 61,924 1 =X 61,924 0
3 [T E 1 X 10,380 1 =X 10,380 0
4 |- bTE 1 KX 153,151 1 X 153,151 0
5 |AMET 1 X 170,412 1 =X 170,412 0
6 |Ekh T 1 3K 88,180 1 =X 88,180 0
7 |gETLE 1 X 523,265 1 =X 523,265 0
8 Bk = 1 KX 1,776 1 K 1,776 0
9 |BARKUEWIHE 1 X 202,593 1 =X 202,593 0
10 |&ETE 1 X 163,500 1 X 163,500 0
11 |EELE 1 =K 10,551 1 K 10,551 0
12 [B3ET 1 =X 119,054 1 X 119,054 0
13 |[fiETEH 1 K 3,326 1 = 3,326 0
14 AT 1 K 4,400 1 K 4,400 0
/NeE 1,575,023 1,575,023 0




2% BTEREIMNEREFGILEHERUVEBEIER (1 B R A ] No. 150
B H W= ¥ THE] i | & g mn o wp | e | EOERE w3
A0\ A BEEEI P EIEET E

1[BBG T 1 X 9,842 1 =X 9,842 0
2 |tIEE 1 3K 42,576 1 =X 42,576 0
3 [T E 1 X 2,800 1 =X 2,800 0
VI V7R N e A 1 3K 94,929 1 =X 94,929 0
5 |AMET 1 X 54,450 1 =X 54,450 0
6 |Ekh T 1 3K 65,780 1 =X 65,780 0
7 |gETLE 1 X 601,689 1 =X 601,689 0
8 |4 L 1 =X 578,322 1 =X 578,322 0
9 |EELEHE 1 K 66,703 1 K 66,703 0
10 |BETHE 1 3K 1,072 1 =X 1,072 0
11 |NAME TR 1K 50,916 1 =X 50,916 0
12 | ARy 1 K 6,534 1 =X 6,534 0
/e 1,575,613 1,575,613 0




2 FRNMNERRFHERERVEETS (2 ep i) No. 164
SET L E A RETE H#Y
B A = § Wi wE &8 § wo o mE  eg | EOMEE B
B-1-)| h B EHRBETLE
1 |EERER T 1 =X 11,392,729 1 X 11,668,729 276,000 H4%E
2 (PhiKkdE T 1 K 18,440,644 1 =X 18,440,644 0
3 |hEESE T 1 KX 5,891,692 1 = 24,652,092 18,760,400 H4%H
4 |EERE T F 1 K 26,107,598 1 =X 26,107,598 0
5 |NEESE TE 1 KX 23,912,153 1 K 25,181,773| 1,269,620 #4%H
6 |2=y R OEDOM T 1 X 36,391,014 1 K 36,391,014 0
T (e T 1 K 1,888,240 1 1,888,240 0
8 [MIRSE T 1 1,585,463 1 K 1,585,463 0
9 |WiETEHE 1 KX 14,539,681 1 X 17,541,601 3,001,920 #4%8
10 ARGy 1 546,387 1 K 702,387 156,000 H4%H
&t 140,695,601 164,159,541 23,463,940 H4%8




2% BTEREIMNEREFGLEHERUVEETISR (2 i) No. 208

RETEERI RETERER .
B H W F | e mg Em o8 | mE mE Em i | EOUERE WE
B-1-2| BEEBGEERETISE
e Bl T 1 =K 258,376 1 =X 258,376
2 |fEITE 1 X 3,732 1 =X 3,732
FEAERM LSy 1 =K -1,907 1 =X -1,907
&t 260,201 260,201 0




2% BTEREIMNEREFGLEHERUVEBEISR [ 2 #i5h4E) No. 212
RETEEAD REATERR o8 3k

B H B F | we wmm s 218 g mE S gy | =OVEEE RE

B-1-3)|SMETIE T (T H#A) R ERELY

VI i 1 =X 1,145,250 1 =K 1,145,250 0
2 |HEKIE 1 =X 1,465,651 1 K 1,465,651 0
3 |FOMIT/EY T 1 X 717,487 1 =K 717,487 0
4 WETLE 1 =X 770,905 1 =K 770,905 0
5 [FAMWS 1 =X 329,926 1 =K 329,926 0
EFF 4,429,219 4,429,219 0




2 % FENNEREFMEIERVERIE (2T E#) No. 219
L ISR AT =l ;8 4
£ H W E |y wp m@ | ew@ s wo EE em | DOMEE B

B2-0)| T RBIEETE
1 |EERE L5 1 555,667 1 K 555,667 0
2 |+T=E 1 KX 498,800 1 498,800 0
3 |HuZET EH 1 X 94,240 1 K 94,240 0
4 |avy)—pITE 1 KX 1,204,591 1 X 1,204,591 0
5 M 1 662,929 1 K 662,929 0
6 |BkAH LH 1 KX 589,480 1 X 589,480 0
T |8RE L 1 K 2,917,060 1 =X 2,917,060 0
8 |BEfUa /-t T 1 K 916,520 1 K 916,520 0
9 |BAAKITE 1 K 67,666 1 =X 67,666 0
10 |#AV 15 1 KX 346,301 1 346,301 0
11 | KRLEE 1 X 34,496 1 K 34,496 0
12 [BIR K W T 5 1 =X 2,277,720 1 K 2,277,720 0
13 |&E 19 1 5,778,896 1 K 5,778,896 0
14 |kEE 1T 1 KX 483,322 1 =X 483,322 0
15 |[&RfdE T 1 K 2,616,000 1 =X 2,616,000 0
16 |fH1 L5 1 KX 150,840 1 X 150,840 0
17 |BIETHE 1 X 43,208 1 K 43,208 0
18 |NEET = 1 KX 878,198 1 =X 878,198 0
19 |Z=y N EDOf TH 1 X 2,312,790 1 K 2,312,790 0
20 |FEARS Iy 1 KX 16,236 1 =X 16,236 0

aEt 22,444,960 22,444,960 0




2% FBRINEREFHIELIERVIEETE [ 2 SR No. 243
L ISR AT =l s ;8 4
£ H B E |y wp mm | sw@ s wo EE em | DOWEE BE

B-3 |FAEGZIETISE
1 |EERER L5 1 1,581,404 1 K 1,581,404 0
2 | HIE 1 3K 408,857 1 =X 408,857 0
3 |HiZET S 1 X 201,560 1 K 201,560 0
I S 1 KX 412,720 1 X 412,720 0
5 |2v2)-hIE 1 X 871,830 1 K 871,830 0
6 BT 1 KX 152,440 1 X 152,440 0
7 (PR TEH 1 K 114,840 1 =X 114,840 0
8 [KRILF 1 KX 9,647 1 9,647 0
9 |EiR L 1 K 1,398,033 1 =X 1,398,033 0
10 |[&@TH 1 KX 8,111,102 1 X 8,111,102 0
11 |/EB L 1 X 1,166,460 1 K 1,166,460 0
12 R T 1 KX 10,917,806 1 K 10,917,806 0
13 | TEH 1 829,639 1 K 829,639 0
14 |NAMEET = 1 =X 5,480,550 1 K 5,480,550 0
15 |2=ybTF 1 X 1,994,713 1 K 1,994,713 0
16 |sME L5 1 KX 2,208,374 1 X 2,208,374 0
17 (k- 1 2,896,567 1 K 2,896,567 0

At 38,756,542 38,756,542 0




4 R FH/NEREFMEUUE K O EE T 5 NO 2
LS AR T L2 LR 1Y

. S aA AL RE S ALk -

4, % i £ " " SR IR

B A, OB H 4 A | & BAr B R 4 H
A |THTEHE
A-1 [Ab#=ER 1] = 11,827,059 1 = 11,827,059 0
A-2 |FRERR (BEELE4Y) 1 K 6,967,749 1 =X 6,967,749 0
A-3 | PR 1 = 4,069,471 1 = 4,069,471 0
A-4 |IKERE 1 =X 163,466 1 =X 163,466 0
A-5 |24+ 1 = 7,975,902 1 = 7,975,902 0
Z 31,003,647 31,003,647 0
B Rk Je0EE FAME T (B TH)
B-1 |FEZEM- JEV R T (FVEE) 1 K 219,473 1 =X 219,473 0
H 219,473 219,473 0
C |[i&EfE

C-1 |IKEfEIEA 1] =X 4,412,939 1 = 4,412,939 0
#t 4,412,939 4,412,939 0
— B THEAE 1] =X 35,636,059 1 &K 35,636,059 0




£ B FH/NEREFMEUUE K O EE T 5 NO 3
B B L] AR AS HAE -
4 i 1 = T T S0 BB
B A, OB H 4 | HAL B 4 H
D |IH# T
D-1 | =R 1 = 15,436,439 = 15,436,439 0
D-2 | &R (BEELE ) 1 X 185,380 = 185,380 0
D-3 | # == 1] =X 428,242 = 428,242 0
D-4 | @4+ 1 =X 3,923,324 E2Y 3,923,324 0
3 19,973,385 19,973,385 0
E |#EH
E-1 iR l& 1] = 15,992,270 = 15,992,270 0
7t 15,992,270 15,992,270 0
2H T HEE 35,965,655 35,965,655 0
L], 2 THEAE 71,601,714 71,601,714 0




% B BN RFFALSUE K OPEEE T NO 4
% i ) 32 AT PR 725 | MR
BOEAL OB & M (B & B Bl &
A [THITE
A-1 | HER
1 |EATRH LEE T Hr R IRE: 1,348,600 1 K 1,348,600 0
2FLT 57 IRV 6,092,967 1 K 6,092,967 0
3ar UMyl IV 1,291,580 1 K 1,291,580 0
2 | OB 1E MR 1 K 688,255 1 K 688,255 0
3 TR 1 K 85,950 1 K 85,950 0
4 |BEFE R IRV 523,420 1 K 523,420 0
5 7L EIEISA(E R IRE: 677,705 1 K 677,705 0
6 [ SEERENFR IRV 900,582 1 K 900,582 0
7 |BHAOAGE R i IRE: 218,000 1 K 218,000 0
& 11,827,059 11,827,059 0
A-2 |HEERR
1 BT LEET s IRIE: 4,421,429 1 K 4,421,429 0
27 B Moyl 1K 590,890 1 K 590,890 0
2 |G HE(E MR I 1 =X 374,620 I 374,620 0
3 |IE R I 38,200 1 K 38,200 0
4 | PR R IV 385,940 I 385,940 0
5 |ehE R 1 =K 113,350 1 X 113,350 0




% B BN R FFALSUE K OPEEE T NO 5
P W Gl LI S A
BOEAL OB & M (B & B Bl &
6 |7 LIRS AE B IV 172,980 1 K 172,980
7| KSR P 1 K 870,340 1 =X 870,340 0
i 6,967,749 6,967,749
A-3 B BRI
1 [BEFA A IRV 1,761,514 1 K 1,761,514 0
2 | 1 =K 157,330 1 K 157,330 0
3 |[TLre kR E 1 K 275,923 1 K 275,923 0
4 (K IHRTN R IE: 1,874,704 1 K 1,874,704 0
7 4,069,471 4,069,471 0
A4 IR EEE
I BTN 1 =X 13,858 1 K 13,858 0
2[R ORI A IRV 149,608 1 K 149,608 0
& 163,466 163,466 0
A-5 | R4t
1 [FENECERR IRV 7,769,179 1 K 7,769,179 0
2 |HEPIELE R IE: 206,723 1 K 206,723 0
7 7,975,902 7,975,902 0




% B BN R FFALSUE K OPEEE T NO 6
% P i G2 AT AR 725 | MR
BOEAL OB & K %M & AL OB & #
B |Ma%Ei- PV G T AMRE T (B T H) IV 219,473 1 219,473 0
B-1 |- JEVER T (SMEE) IRE-v 219,473 1 K 219,473 0
it 219,473 219,473 0
C |HHHLEDbkiE T HE
C-1 |REHE
1 |EATER A IRV 4,412,939 1 =K 4,412,939 0
i 4,412,939 4,412,939 0




% B BN RFFALSUE K OPEEE T NO 7
% i ) 32 AT AR 725 | MR
BOEAL OB & M (B & B Bl &
D |I# T
D-1 |
1 BT LEEAT 3l IE: 8,413,648 1 K 8,413,648 0
27U Myl 1 K 2,029,671 1 K 2,029,671 0
2 |G HE(E MR I 1 =K 877,570 1 K 877,570 0
3 |1E R 1 K 157,002 1 K 157,002 0
4 PR R IV 1,147,322 1 K 1,147,322 0
5 |ehE R 1 =K 145,166 1 K 145,166 0
6 |7 LIS AE Bl IV 1,368,029 1 K 1,368,029 0
T KSR i IRV 1,047,031 1 K 1,047,031 0
8 |BHAL AR H R A IE: 251,000 1 K 251,000 0
it 15,436,439 15,436,439 0
D-2 | #Em (EELE )
1 |FETRA LEET 3l IE: 181,960 1 K 181,960 0
27U Myl 1K 3,420 1 K 3,420 0
i 185,380 185,380 0




% B BN R FFALSUE K OPEEE T NO 8
% i ) 32 AT AR 725 | MR
BOEAL OB & % HAL B Al &
D-3 | #E M
IO BV IRV 325,874 = 325,874 0
2 | KRR i 1 =K 102,368 F2V 102,368 0
428,242 428,242 0
D-4 =4+
1 [FENECERR 1 K 1,593,744 =X 1,593,744 0
2 |HEPIELE R 1 =X 2,329,580 =X 2,329,580 0
3,923,324 3,923,324 0




% B BN R FFALSUE K OPEEE T NO 9
% i ) 32 AT PR 725 | MR
BOEAL OB & % HAL B Al &

E |k
1 [FENEERR S RN L5 R4t 1 K 2,935,394 =X 2,935,394 0
2 |HEPIEIE PR I L =04 1 X 403,344 =X 403,344 0
3 | ER N L R4 1 K 58,860 X 58,860 0
4 (B )RR T fa Yy 1 K 4,589,020 F2V 4,589,020 0
5 |EXTERME LI fa Y IRV 4,902,112 = 4,902,112 0
6 | hEkfE L fa Yy 1 K 847,960 = 847,960 0
T | PR L fa Y 1 K 211,720 =X 211,720 0
8 |MEPNASHARR i L% fa Yy 1 K 114,760 F2V 114,760 0
9 |FHESCERE LY fa Y 1 =K 190,050 X 190,050 0
10 |7 L e LR T3 fa Yy 1 K 18,210 F2V 18,210 0
11 [ F A i L5 fa Y I-v 256,440 =X 256,440 0
12 |BHI0AGE R i fa Yy 1 =X 241,000 =X 241,000 0
13 | A Eh kSR e T fa Y 1 K 375,460 =X 375,460 0
14 |fELEF 24Ny N 1 K 847,940 F2V 847,940 0

it 15,992,270 15,992,270 0




2 BFREINEREFGILEHERVEETS No. 0
% E i 23 = By i %5 fi
MEEE T
I | BRI T2 1.0 =X 110,329,002




2 BRNMEREFGLERERVIEETSE No. 1

% E i 23 o = Bif B Of ® % fi
il Feb R T
[ERE I
[ 1) T3 et i T HIEE T (AL BEMEBRS) 1.0 ==X 3,312,990
[ U TR bl fi T2 HHEE T 45 (SR T 95) 1.0 K 9,222,000
[ U T bl fi T2 WETH 1.0 = 8,445,845
(2301 T e fis T2 WiETH 1.0 ==X 20,673,852
[FHBERL Ll bk fi T2 YETH 1.0 = 68,674,315

110,329,002




2 BRNMEREFGLERERVIEETS

No. 2
% b i3] = = | B i £ ## &
(WEATEIMWERTISE
o |[IMLF]dETE = 8,445,845 A+E
g [ L EE T SRR = 3,312,990 B
BT = 9,222,000
INEE 12,534,990

20,980,835




2 BRNMEREFGLERERVIEETS No. 3

% b i3] = #} & | B4 B & # fi
(THIITEIHmRIELIS
e#H=EMR BN LE 1.0 = 7,484,845
B |HEM BRI T R FRL .o =K 3,312,990
Sk T E 1.0 9,222,000
E |db#Es ik T8 1.0 = 961,000

&t 20,980,835




2% BFREIMNEREFGEHERVIBEEIS No. 4
% b i3] 2 | Bifi L] %8 &

A [ItHER BRSNIE
1 [k s T 1.0 = 59,600
2 |fEA AR Eats T 1.0 = 3,414,700
3 | BNEAKERE TH 1.0 = 856,210
4 |BNHEAR T2 1.0 = 2,041,360
5 | BAMEKRE TH 1.0 = 86,730
6 [VHAKERIE T % 1.0 = 1,026,245

&t 7,484,845




2% BFREIMNEREFGEHERVIBEEIS No. 5
% b i3] 2 | Bifi L] %8 & z

B |HEHR BEANIE (No.6.7.9% &)
1 [k s T 1.0 = 195,730
2 |fEA AR Eats T 1.0 = 581,780
3 | BNEAKERE TH 1.0 = 172,680
4 |BNHEAR T2 1.0 = 847,420
5 | BAMEKRE TH 1.0 = 137,860
6 |BAMEKRETH 1.0 = 263,950
7 [EkERE T 1.0 = 1,113,570
NG 3,312,990
8 |AMEETH 1.0 =& 9,222,000
&t 12,534,990




2% BFREIMNEREFGEHERVIBEEIS No. 8
% b i3] 2 @ B i %8 -3
E [I#HEHE BEISF
1 |[WETE Loy 2 &R & te) 1.0 = 961,000
&t 961,000




2 FRNMNEREFGIEHERUVEETSE [28TF] No. 35
% E i 23 = By i %5 fi
[ERRER
(230 T 5 bl fi T2 (T ) 1.0 X« 20,673,852




# R

FENEREFHLERERVIEETE (21T %]

No. 36
% b i = &= | B{fr i & # fi
(281 T | B i T2 (&L H)
FREER BN L E 1.0 = 15,317,530
SRR AR L5 1.0 ==X 3,665,322
RHEM BB TS 1.0 = 1,691,000

20,673,852




2% BFRENMNEREFGEHERVIBETE [281TF] No. 37
% b i3] = 2 | Bifi L] %8 &

A |REER BRSNIE

1| L& 1.0 = 495,300

2 s Bikin LF 1.0 = 5,420,460

3 |BINfE KRR LE 1.0 = 1,441,120

4 |BNHEAR T2 1.0 = 3,383,820

5 | BAMEKRE TH 1.0 = 1,022,740

6 |BAMEKRETH 1.0 = 1,680,000

7 ek 1.0 = 227,800

8 |THAKEXH LF 1.0 = 1,646,290
&t 15,317,530




2% BFRENMNEREFGEHERVIBETE [281TF] No. 38
4 b1 i3] = 2 | Bifi L] %8 &
B |F#=EH HAZBIE
1 | TR T 1.0 =X 3,665,322 f§iZ= - oot
&t 3,665,322




2% BFRENMNEREFGEHERVIBETE [281TF] No. 39
2 b3 & = 2 @ B i o] 3
C |H#EH BEIE
1 |[WETE Loy 2 &R & te) 1.0 = 1,691,000
&t 1,691,000




B W

FRNEREFMESEREETE [FAEGHHE] No. 67
% i3 1 £ B HfI il & & i@
(2 E A ]
A TS
(280 T Dt el (FHERS L fE) I 68,674,315




2% BEIMNEREFGILEIMERUVEBETSE [FESHHE] No. 68
% E7 i3] = 2 Bifg i & ) i
[2 AR ER S ]
A | ZEE R T 1 K 20,911,940
B |54 s LS 1 = 46,414,375
C |[WET=H 1 =X 1,348,000
At

68,674,315




